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| PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
| mark the correct choice on your answer sheet.

10-

This evening's meeting is one in which important issues would be discussed; your
attendance i§ -———------ .

1) obligatory 2) didactic 3) relevant 4) explicit

After a long ------- -— between the former husband and wife over the custody of the child,
the court finally decided to grant the custody to the mother.

1) contradiction 2) cruelty 3) squabble 4} hesitation

In Australia, animals are reared on crop residue. Without the animals, these residues
would have to be —-———-=- by other means before another crop can be grown—often by
burning.

1) deprived of 2y disposed of 3) resorted to 4) alluded to

Unable to ----——- the tyrannical rules and regulations at the hostel, young Vivian thought
of escaping in the dark of the nighi.

1) scold 2) acclaim 3) bear 4) treat

Why do some animals, such as humans, ----—--- to sleep, whereas others, such as elephants
and giraffes, stand?

1) require 2) snore 3) setup 4) lie down

With sixteen victories in a row, the Australian cricket team was looking quite unassailable,
but they were finally ----—-- at the hands of the Indians.

1} dispersed 2) vangquished 3) confronted 4) disregarded

The saleshoy tried to persuade the old man te buy goods from him, but had to give up
when the old man told him ——-—------ that he would not buy anything from him.

1) arbitrarily 2) haphazardly 3) unequivocally  4) necessarily

But he had become —-----—- to the rush and whirr of missiles, and now paid no heed
whatever to them.

1) inured 2) rendered 3) constrained 4) affirmed

The judge openly associated with racist organizations; nevertheless, he showed no
-------- in his decisions during his career.

1) uniqueness 2) dexterity 3) gratitude 4) prejudice

I don't have any explanation for his --——---—-- behavior at last night's party, though I'm
sure that he is quite apologetic about it.

1) credible 2) resolute 3) distinct 4) bizarre
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PART C: Reading Comprehension:

Directions: Read the following four passages and answer the questions by choosing the best
choice (1), (2), (3), or {(4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Tourism’s economic benefits are touted by the industry for a variety of reasons. Claims
of tourism’s economic significance give the industry greater respect among the business
community. public officials, and the public in general. This often translates into
decisions or public policies that are favorable to tourism. Community support is
important for tourism. as it is an activity that affects the entire community. Tourism
businesses depend extensively on each other as well as on other businesses, government
and residents of the local community. Economic benefits and costs of tourism reach
virtually everyone in the region in one way or another. Economic impact analyses
provide tangible estimates of these economic interdependencies and a better
understanding of the role and importance of tourism in a region’s economy.

Tourism activity also involves economic costs. including the direct costs incurred by
tourism businesses. government costs for infrastructure to better serve tourists. as well
as congestion and related costs borne by individuals in the community. Community
decisions over tourism often involve debates between industry proponents touting
tourism’s economic impacts (benefits) and detractors emphasizing tourism’s costs.
Sound decisions rest on a balanced and objective assessment of both benefits and costs
and an understanding of who benefits from tourism and who pays for it.

Tourism's economic impacts are therefore an important consideration in state,
regional and community planning and economic development. Economic impacts are
also important factors in marketing and management decisions. Communities therefore
need to understand the relative importance of tourism to their region, including tourism’s
contribution to economic activity in the area.

A wariety of methods, ranging from pure guesswork to complex mathematical
models. are used to estimate tourism’s economic impacts. Studies vary extensively in
quality and accuracy. as well as which aspects of tourism are included. Technical reports
often are filled with economic terms and methods that non-economists do not
understand. On the other hand, media coverage of these studies tend to oversimplify and
frequently misinterpret the results, leaving decision makers and the general public with
a sometimes distorted understanding of tourism’s economic effects.

11- Which of the following aspecis of tourism activity is NOT discussed in the passage?
1) Its costs and benefits
2) Its pros and cons
3) Its influence on economic activity
4) Its importance in decision-making ditferent levels
12- The word “touted™ in paragraph 1 is closest in meaning to --------—----- .
1) measured 2) exaggerated 3) praised 4) reported
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14-

It is stated in the passage that community decisions over tourism are ———--—-—-,

1) easy to make

2) welcome by both supporters and critics of the industry

3) a controversial issue

4) made by the supporters of the industry

Which of the following statements is true of the tourism studies according to paragraph 47
1) They don’t usually give a complete and clear picture of tourism’s economic benefits.
2) Most of them produce inaccurate results.

3) They are usually conducted by non-economists.

4) Their findings attrack the general public more than the decision makers.

Which of the following questions is NOT answered in the passage?
1) Is community support of significance in tourism?

2) Does tourism activity incur any cost?

3) How can informed decisions over tourism made?

4) Why are tourism’s economic benefits underestimated?

PASSAGE 2:

Hotels were among the earliest facilities that bound the United States together. They
were both creatures and creators of communities. as well as symptoms of the frenetic
quest for community. Even in the first part of the nineteenth century, Americans were
already forming the habit of gathering from all corners of the nation for both public and
private, business and pleasure, purposes. Conventions were the new occasions, and
hotels were distinctively American facilities making conventions possible. The first
national convention of a major party to choose a candidate for President (that of the
National Republican party, which met on December 12, 1831, and nominated Henry
Clay for President) was held in Baltimore, at a hotel that was then reputed to be the best
in the country. The presence in Baltimore of Barnum's City Hotel. a six-story building
with two hundred apartments, helps explain why many other early national political
conventions were held there.

In the longer run, American hotels made other national conventions not only possible
but pleasant and convivial. The growing custom of regularly assembling from afar the
representatives of all kinds of groups—not only for political conventions. but also for
commercial. professional. learned, and avocational pnes—in turn supported the
multiplying hotels. By the mid-twentieth century. conventions accounted for over a third
of the vearly room occupancy of all hotels in the nation; about eighteen thousand
different conventions were held annually with a total attendance of about ten million
persons.

Nineteenth-century American hotelkeepers, who were no longer the genial. deferential
"hosts" of the eighteenth-century European inn, became leading citizens. Holding a large
stake in the community. they exercised power to make it prosper. As owners or
managers of the local "palace of the public." they were makers and shapers of a principal
community attraction, Travelers from abroad were mildly shocked by this high social
position.
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16-

17-

19-

20-

21-

What does the passage mainly discuss?

1) The best facilities in American hotels

2) Hotel management in America

3) The importance of hotels in tourism

4) The role of early American hotels

The National Republican Party is mentioned in paragraph 1 as an example of a group -—-

1) of learned people 2) holding a convention

3) owning a hotel 4) from Baltimore

The word “ones” in paragraph 2 refers to --——m-=m-m-mr .

1) conventions 2) kinds 3) hotels 4) groups

It can be inferred from the passage that early hotelkeepers in the United States were -—

1) European immigrants 2) professional builders

3) influential citizens 4) active politicians

Which of the following statements about early American hotels is NOT mentioned in the
passage?

1) Conventions were held in them.

2) Travelers from abroad did not enjoy staving in them.
3) People used them for bath business and pleasure.

4) They were important to the community.

PASSAGE 3:

Every year about two million people visit Mount Rushmore, where the faces of four
LI.S. presidents were carved in granite by sculptor Gutzon Borglum and his son, the late
Lincoln Borglum. The creation of the Mount Rushmore monument took 14 vears — from
1927 to 1941 — and cost a million dollars. These were times when money was difficult
to come by and many people were jobless. To move the more than 400,000 tons of rock,
Borglum hired laid-off workers from the closed-down mines in the Black Hills area. He
taught these men to dynamite, drill, carve. and finish the granite as they were hanging
in midair in his specially devised chairs. which had many safety features. Borglum was
proud of the fact that no workers were killed or severely injured during the vears of
blasting and carving.

During the carving. many changes in the original design had to be made to keep the
carved heads free of large fissures that were uncovered. However, not all the cracks
could be avoided. so Borglum concocted a mixture of granite dust, white lead. and
linseed oil to fill them,

Every winter, water from melting snows gets into the fissures and expands as it
freezes. making the fissures bigger. Consequently, every autumn, maintenance work is
done to refill the cracks. The repairers swing out in space over a 500-foot drop and fix
the monument with the same mixture that Borglum used to preserve this national
monument for firture generations.

According to the passage, the men who Borglum hired were -—---—-—-——-- .
1) Black Hills volunteers 2) laid—oft stone masons
3) trained sculptors 4) unemployed miners
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22-

23-

25-

26-

The word “fissures” in paragraph 2 refers to ——--—-——-,
1) cracks 2) figures 3) carvings 4) designs

Which of the following statements can be inferred from the passage?

1) The cracks caused serious injuries.

2) The workers made mistakes when blasting.

3) The heads are not as originally planned.

4) The designs had large fissures in them.

According to the passage, Borglum's mixture for filling cracks was -----——==--,

1) very expensive 2) uncovered during carving

3) invented by the sculptor himself 4) hought at the Black Hills mines
The passage indicates that today Mount Rushmore needs to be ----———--—-,

1) protected from air pollution 2) polished for tourists

3) restored during the winter 4) repaired periodically

PASSAGE 4:

Soon there will be something new for the tourist who has been everywhere and seen
everything on Earth. Spacecralt being developed by private commercial companies will
soon enable private citizens to buy their own tickets to travel into space. thereby creating
a space tourism industry. So far, space travel has been undertaken only by governments,
but the new. privatized spaceflight industry will bring great benefits to both science and
the public.

First, private space travel will benefit serious space exploration by making spacetlight
cheaper. Privatization ol space technology will bring technological costs down very fast
because it will allow competition. Thus, lowering the cost of space travel will benefit
not only space tourists but also scientists, who will be able to use private space flights
for research purposes.

Furthermore, privatization of space travel will accelerate the rate at which important
scientific discoveries occur. The aerospace industry already sponsors a lot of
groundbreaking scientific research, and adding private spaceflight companies to it will
make the industry as a whole grow in size, thereby employing more scientists than jt
does now. That increased number of working scientists means not only that more
discoveries are likely to be made but also that those discoveries are likely to be made
more quickly than made by the government exploration of space. Besides. privatization
of space travel will increase the taxes paid by the public. All tax payers will pay more
to subsidise the cost incurred in building space stations, airports, crafis. ete. There is no

~

incurred fo ce tourism

What is the author's main purpose in the passage?

1) To list the advantages of private space travel

2) To argue against the role of governments in space tourism
3) To introduce a new tourist attraction

4) To tell the reader about the history of space travel
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27-

28-

30-

The passage indicates that privatization of space tourism ——----——-—- :

1) will need more safety measures

2} incurs more expenses from many aspects

3) disturbes the ongoing research in the field

4} will adversely affect space traffic

It can be inferred from paragraph 2 that competition ----——------ .

1) among space tourists helps lower the cost of space travel

2) can be one of the strongest motivators to cut costs

3) exists between public and private sectors with regard to running space tourism
industry

4) among space research scientists must be encouraged by the government

The word “it” in paragraph 3 refers to ---——----- -,

1) travel 2) company 3) research 4) industry

What is the function of the underlined sentence in paragraph 37

1) To support the idea that more tax has to be paid by the public

2) To emphasize the fact that building facilities in space is costly

3) To argue against lowering taxes

4) To warn of the financial problems faced by the private sector
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